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QUESTION 1

An architect is proposing an HPE Moonshot System, including m710 cartridges, an iLO Chassis Manager, switch, and
uplink modules. The customer needs IT staff to be able to access cartridges over a Remote console. What should the
architect explain to the customer? 

A. IT staff can open a Remote Console to any cartridges linked to an mRCA through the iLO CM. 

B. Remote Console access is only supported when a cartridge is part of an HPE Helion CloudSystem 9.x solution. 

C. Remote console access is not supported for cartridges; IT staff should use local consoles instead. 

D. IT staff can open a Remote Console to any cartridge through the iLO CM. 

Correct Answer: A 

Reference: https://h20565.www2.hpe.com/hpsc/doc/public/display?
sp4ts.oid=5365577anddocLocale=en_USanddocId=emr_na-c04785597 

 

QUESTION 2

A customer needs a new system to be managed so that OS installations, driver installations, and scripted applications
can be controlled from a central point. Parallel deployment jobs are also an important requirement for the customer.
Which management software should the architect propose to meet the customer\\'s needs? 

A. HPE iLO REST API 

B. HPE Insight Control server provisioning 

C. HPE Intelligent Provisioning 

D. HPE Smart Update Manager 

Correct Answer: B 

 

QUESTION 3

An architect is planning an HPE Apollo 4530 solution to support the Cloudera distribution of Spark and HDFS. Each
HPE ProLiant XL450 in the solution uses the following baseline recommendations: 

-15 8TB HDDs (120TB total) 

-2 10-core 2.3GHz processors 

-128GB memory (64GB on each processor) 

-

2-port 10GbE FlexibleLOM 

The architect has planned enough servers to meet the customer\\'s requirements for total capacity. 
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Which two components in this plan are most likely to cause a bottleneck as an increasing number of Spark applications
run? 

A. 

processor and memory 

B. 

adapter bandwidth and processors 

C. 

drive capacity and memory 

D. 

drive type (HDD versus SSD) and drive capacity 

Correct Answer: C 

 

QUESTION 4

Which network infrastructure components should an architect consider when recommending 40GbE in a server
solution? 

A. OM2 cables can be reused for runs of 50 meters or less 

B. OM4 cables can be reused for all runs out to the maximum of 300 meters 

C. Cables will need to be replaced by multi strand MPO cables 

D. Multimode cables will all need to be replaced by single mode cables 

Correct Answer: C 

 

QUESTION 5

A customer plans to migrate from two fully depreciated high end Relational Database Management System (RDMS)
servers, which are out of warranty and still under a support contract. An architect has recommended the customer
migrate to four new HPE Superdome X BL920 (2P/18C) blades running Microsoft SQL server. 

Which cost statement provides a rationale for the migration? 

A. Based on the TCO/ROI analysis for this project, the Apollo 4510 System makes a better choice as a SQL Database
server platform for this migration 

B. The amount of savings from not renewing the service contract on the existing equipment can pay for the new
hardware in just a little over three years 

C. The NPV of -$100,000 USD more than justifies the purchase price of the new equipment 

D. The IRR for this proposal would have to be extended out for ten years to make sense, as the IRR value for the first
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three years is nearly 20 percent 

Correct Answer: B 
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